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 x……®……ΔEÚ Roll No. 
  

 
 

      

 

No. of Questions — 30 SS—14—Geog. 

No. of Printed Pages — 7 
=SS… ®……v™… ®…EÚ {…Æ˙“I……, 2013 

SENIOR SECONDARY EXAMINATION, 2013 

¶…⁄M……‰±… 
GEOGRAPHY 

∫…®…™… :  3 
4
1

 
P…h]‰ı 

{…⁄h……»EÚ : 56 
 
 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ̆∂… : 

 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â* 

  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 

 2. ∫…¶…“ |…∂x… EÚÆ˙x…… + x…¥……™…« ΩĘ̈*  

  All the questions are compulsory.  

 3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â*  

  Write the answer to each question in the given answer-book only.  

 4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩĘ̀, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â* 

  For questions having more than one part, the answers to those 

parts are to be written together in continuity. 

 5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ /  ¥…Æ˙…‰v……¶……∫… 

Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ ∫…Ω˛“ ®……x…Â* 
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  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 

version should be treated valid. 

 6. J…hb˜ |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x… =k…Æ˙ EÚ“ ∂…§n˘ ∫…“®…… 

  + 1-13 1 20 ∂…§n˘ 
  §… 14-22 2 60 ∂…§n˘ 

  ∫… 25-27 3 100 ∂…§n˘ 
  n˘ 28-30 4 250 ∂…§n˘ 

  Section Q. Nos. Marks per  Word limit  
    question of answer 
  A 1-13 1 20 words 
  B 14-22 2 60 words 
  C 25-27 3 100 words 
  D 28-30 4 250 words 

 7. |…∂x… GÚ®……ΔEÚ 23 +…ËÆ˙ 24 ®……x… S…j… EÚ…™…« ∫…‰ ∫…Δ§… v…i… ΩĘ̀ +…ËÆ˙ |…i™…‰EÚ 2 +ΔEÚ EÚ… ΩË* 

  Question Nos. 23 and 24 are related to map-work carrying          

2 marks each. 

 8.   ¥…∂¥… ¥… ¶……Æ˙i… E‰Ú ={…±…§v… EÚÆ˙…B M…B Æ‰̇J…… ®……x… S…j……Â EÚ…‰ =k…Æ˙ {…÷Œ∫i…EÚ… E‰Ú ∫……l… x…il…“ 
EÚÆÂ̇ * 

  Attach outline map of World and India with the answer-book. 

 9. |…∂x… GÚ®……ΔEÚ 29 +…ËÆ˙ 30 ®…Â +…Δi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛* 

  There are internal choices in Question Nos. 29 and 30. 

  
J…hb˜ - + 

Section - A 
1. {…™……«¥…Æ˙h…“™…  x…∂S…™…¥……n˘ +…ËÆ˙ ∫…Δ¶…¥…¥……n˘ E‰Ú §…“S… ®…v™… ®……M…« EÚ…‰ EÚ…Ëx… ∫…“ ∫…ΔEÚ±{…x…… {… Æ˙±… I…i… 

EÚÆ˙i…“ ΩĘ̈ ? <∫… ∫…ΔEÚ±{…x…… EÚ… |… i…{……n˘x…  EÚ∫…x…‰  EÚ™…… l…… ?  

 Which concept reflects the middle path between Environmental 

Determinism and Possibilism ? Who introduced this concept ?
2
1 +

2
1  = 1 
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2. Æ˙…V…x…“ i…EÚ ¶…⁄M……‰±… E‰Ú n˘…‰ ={…I…‰j… EÚ…Ëx… ∫…‰ ΩĘ̀ ?  

 Which are the two sub-fields of Political Geography ? 
 2

1  + 
2
1

 = 1 

3. ™… n˘ ∫……I…Æ˙ V…x…∫…ΔJ™…… EÚ… +x…÷{……i… §…g¯ V……™…‰ i……‰ ¥…Ω˛  EÚ∫…  ¥…EÚ…∫… EÚ… ∫…⁄S…EÚ Ω˛…‰M…… ?  

 What type of development indicator will it be, if the proportion of 

literate population is increased ?    1 

4. ®……x…¥…  ¥…EÚ…∫… E‰Ú =SS… +…ËÆ ˙ x…®x… ∫i…Æ˙ n‰̆∂……Â EÚ“ ∫…ΔJ™……  ±… J…™…‰ *   

 Write the numbers of high and low level human development 

countries.     
2
1  + 

2
1

 = 1 

5. +… n˘®… ®……x…¥… V…“¥…x…  x…¥……«Ω˛ E‰Ú  ±…B  EÚx… n˘…‰ EÚ…™……Á {…Æ˙  x…¶…«Æ˙ l…‰ ?   

 On which two activities did primitive human beings depend for their 

subsistence ? 
2
1  + 

2
1

 = 1 

6. =SS…i…®… ∫i…Æ˙ E‰Ú  x…h…«™… ±…‰x…‰ EÚ“  GÚ™……  EÚ∫…  GÚ™……EÚ±……{… ®…Â ∫…Œ®®… ±…i… EÚ“ V……i…“ ΩĘ̈ ?  

 In which type of activity is the highest level decision making included ? 

    1 

7. "∫…z…M…Æ' ∂…§n˘ EÚ… ∫…¥…«|…l…®… |…™……‰M…  EÚ∫…x…‰  EÚ™…… ?˙ <∫…EÚ… ¥…π…« ¶…“  ±… J…™…‰ *  

 Who first used the term ‘conurbation’ ? Also write its year. 
2
1  + 

2
1

 = 1  

8. ∫¥…∫l… V…“¥…x… E‰Ú n˘…‰ ∫…⁄S…EÚ  ±… J…™…‰*  

 Write two indicators of healthy life. 
2
1  + 

2
1

 = 1 

9. "V…x…∫…ΔJ™…… ¥…fi r˘' {…n˘ EÚ“ {… Æ˙¶……π…… n˘“ V…™…‰*  

 Define the term ‘population growth’. 1 
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10. ¶……Æ˙i… ®…Â {…±±…“ §…Œ∫i…™……Â E‰Ú EÚ…‰<« n˘…‰ ∫l……x…“™… x……®…  ±… J…™…‰* 

 Write any two local names of hamleted settlements in India. 
2
1  + 

2
1

 = 1 

11. {…™……«¥…Æ˙h… |…n⁄˘π…h…  EÚ∫…EÚ… {… Æ˙h……®… ΩĘ̈ ?  

 Which results environmental pollution ?  1 

12. ¥……™…÷ |…n⁄̆π…h… ∫…‰ Ω˛…‰x…‰ ¥……±…“ §…“®…… Æ˙™……Â ∫…‰ ∫…®§…Œxv…i…  EÚxΩ˛” n˘…‰ i…Δj……Â E‰Ú x……®…  ±… J…™…‰*  

 Write the names of any two systems in which diseases are caused by 

Air pollution. 
2
1  + 

2
1  = 1 

13. {…¥…x… ΩΔ̨∫… C™…… ΩĘ̈ ? ™…Ω˛  EÚx… n˘…‰ I…‰j……Â ®…Â ∫…‰¥…… |…n˘…x… EÚÆ˙i…“ ΩĘ̈ ?  

 What is Pawan Hans ? In which two areas does it provide services ? 

    
2
1  + 

4
1  + 

4
1 = 1 

J…hb˜ - §… 

Section - B 

14. V…x…∫…ΔJ™…… |…¥……∫… EÚ…‰ |…¶…… ¥…i… EÚÆ˙x…‰ ¥……±…‰ EÚ…‰<« S……Æ˙ +{…EÚπ…« EÚ…Æ˙EÚ  ±… J…™…‰* 

 Write any four pull factors affecting the migration of population. 

   
 

 
2
1  + 

2
1

 
+ 

2
1

 
+ 

2
1

 
= 2 

15. l……‰EÚ ¥™……{……Æ˙ EÚ“ EÚ…‰<« n˘…‰  ¥…∂…‰π…i……Bƒ §…i……<™…‰*  

 Write any two characteristics of wholesale trading. 1 + 1 = 2 

16. +…xi… Æ˙EÚ V…±… ®……M…« E‰Ú  ¥…EÚ…∫… EÚ“ EÚ…‰<« n˘…‰ +x…÷E⁄Ú±… n˘∂……Bƒ  ±… J…™…‰*  

 Write any two favourable conditions for the development of inland 

waterways. 1 + 1 = 2 
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17. ™… n˘ +…{…EÚ…‰ ±…®§…“ n⁄˘Æ˙“ EÚ®… ∫…®…™… ®…Â i…™… EÚÆ˙x…“ ΩË˛, +…{…  EÚ∫… {… Æ˙¥…Ω˛x… ∫……v…x… EÚ… S…™…x… 

EÚÆÂ̇M…‰, +…ËÆ˙ C™……Â ?  

 If you want to travel a long distance in less time, which means of 

transport would you select and why ?  1 + 
2
1  + 

2
1

 
= 2 

18. O……®…“h… ∫…‰ x…M…Æ˙“™… |…¥……∫… E‰Ú EÚ…‰<« n˘…‰ {…™……«¥…Æ˙h…“™… {… Æ˙h……®…  ±… J…™…‰*  

 Write any two environmental consequences of rural-urban migration. 

     1 + 1 = 2 

19. ¥…π……« V…±… ∫…ΔO…Ω˛h… E‰Ú EÚ…‰<« n˘…‰ ±……¶…  ±… J…™…‰*  

 Write any two advantages of rain water harvesting. 1 + 1 = 2 

20. =i{……n˘…Â E‰Ú ={…™……‰M… E‰Ú +…v……Æ˙ {…Æ˙ =t…‰M……Â EÚ… ¥…M…‘EÚÆ˙h… EÚ“ V…™…‰*  

 Classify the industries according to the use of products.   

   
2
1  + 

2
1

 
+ 

2
1

 
+ 

2
1  = 2 

21. v……Æ˙…¥…“ M…Δn˘“ §…∫i…“ E‰Ú EÚ…‰<« S……Æ˙ ±…I…h…  ±… J…™…‰*  

 Write any four characteristics of Dharavi slum area.  

   
2
1  + 

2
1

 
+ 

2
1

 
+ 

2
1  = 2 

22. ¶…⁄ ®…  x…®x…“EÚÆ˙h… EÚ“ n˘…‰ |… GÚ™……+…Â E‰Ú x……®…  ±… J…™…‰*  

 Write the names of two processes that induce land degradation.  

   1 + 1 = 2 

23. ∫…Δ∫……Æ˙ E‰Ú  n˘™…‰ M…™…‰ Æ‰̇J…… ®……x… S…j… ®…Â  x…®x… |…®…÷J… Ω˛¥……<« {…k…x… EÚ…‰ +Δ EÚi… EÚ“ V…™…‰ : 

 (i) S…‰z…<« (ii) ®……∫EÚ…‰   (iii)  ∂…EÚ…M……‰  (iv) {…l…«* 

 In the given outline map of the World mark the following major 

airports : 

 (i) Chennai (ii) Moscow (iii) Chicago (iv) Perth. 

     
2
1  + 

2
1  + 

2
1  + 

2
1  =  2 
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24. ¶……Æ˙i… E‰Ú  n˘™…‰ M…™…‰ Æ‰̇J…… ®……x… S…j… ®…Â  x…®x… ±… J…i… S……Æ˙ +…Ët…‰ M…EÚ I…‰j… n˘∂……«<™…‰ : 

 (i) Ω÷̨M…±…“ I…‰j…  

 (ii) §…ΔM…±……ËÆ˙-i… ®…±…x……b÷̃ I…‰j… 

 (iii) M…÷c˜M……ƒ¥…- n˘±±…“-®…‰Æ˙`ˆ I…‰j…  

 (iv) ®…÷®§…<«-{…⁄h…‰ I…‰j…*  

 In the given outline map of India mark the following Industrial areas : 

 (i) Hugli region  

 (ii) Bangalore-Tamil Nadu region 

 (iii) Gurgaon-Delhi-Meerut region  

 (iv) Mumbai-Pune region.   
2
1  + 

2
1  + 

2
1  + 

2
1  =  2 

J…hb˜ - ∫… 

Section - C 

25. ∫…Δ™…÷HÚ Æ˙…π]≈ı  ¥…EÚ…∫… EÚ…™…«GÚ®… E‰Ú "x…M…Æ˙ Æ˙h…x…“ i…' ®…Â §…i……<« EÚ…‰<« i…“x… |……l… ®…EÚi……Bƒ  ±… J…™…‰* 

 Write any three priorities as part of the ‘Urban Strategy’ of the United 

Nations Development Programme (UNDP).
 

 1 + 1 + 1 = 3 

26. O……®…“h… +…ËÆ˙ x…M…Æ˙“™… §…Œ∫i…™……Â ®…Â i…“x… +…v……Æ˙¶…⁄i… +xi…Æ˙ ∫{…π]ı EÚ“ V…™…‰*  

 Explain three basic differences between rural and urban settlements. 

    1 + 1 + 1 = 3 

27. EÚ…Δb˜±…… {…k…x… EÚ“ +¥…Œ∫l… i…,  ¥…EÚ…∫… EÚ… EÚ…Æ˙h… B¥…Δ ={…™……‰ M…i…… EÚ… ¥…h…«x… EÚ“ V…™…‰* 

 Describe the location, reason of development and utility of Kandla Port. 

    1 + 1 + 1 = 3 
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J…hb˜ - n˘ 

Section - D 

28. +xi…Æ˙Æ˙…π]≈ı“™… ¥™……{……Æ˙ E‰Ú  EÚxΩ˛” S……Æ˙ +…v……Æ˙…Â EÚ“ ¥™……J™…… EÚ“ V…™…‰* 

 Explain any four bases of international trade. 1 + 1 + 1 + 1 = 4 

29. +…v…÷ x…EÚ §…c‰̃ {…Ë®……x…‰ {…Æ˙ Ω˛…‰x…‰ ¥……±…‰  ¥… x…®……«h… EÚ“ S……Æ˙  ¥…∂…‰π…i……+…Â EÚ…‰  ¥…∫i……Æ˙ ∫…‰  ±… J…™…‰* 

+l…¥…… 

 =t…‰M……Â EÚ“ Œ∫l… i… EÚ…‰ |…¶…… ¥…i… EÚÆ˙x…‰ ¥……±…‰  EÚxΩ˛” S……Æ˙ EÚ…Æ˙EÚ…Â EÚ…‰  ¥…∫i……Æ˙ ∫…‰  ±… J…™…‰* 

 Write in detail four characteristics of modern large scale 

manufacturing. 1 + 1 + 1 + 1 = 4  

OR 

 Write in detail any four factors influencing the location of industries.  

    1 + 1 + 1 + 1 = 4 

30. ¶……Æ˙i…“™… EfiÚ π… EÚ“  EÚxΩ˛” S……Æ˙ ∫…®…∫™……+…Â EÚ“ ¥™……J™…… EÚ“ V…™…‰* 

+l…¥…… 

 >V……« E‰Ú  EÚxΩ˛” S……Æ˙ +{…Æ˙®{…Æ˙…M…i… ª……‰i……Â EÚ“ ¥™……J™…… EÚ“ V…™…‰* 

 Explain any four problems of the Indian agriculture. 1 + 1 + 1 + 1 = 4 

OR 

 Explain any four non-conventional energy sources. 1 + 1 + 1 + 1 = 4 
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